PRACTICE PAPER

Time allowed: 45 minutes Maximum Marks: 200

General Instructions: As given in Practice Paper - 1.
Section-A

Chowse the correct option:

L If matrix A=[a.],, . wherea, = Lﬂ :: : ;;-_l_h_tnﬁl is equal to
(@)1 (b) A (€) D (d) None of these

2. If 1'1; : -|lﬁs :‘ then x is equal to
(a) & (b) 6 (c) =6 (d) O

3. If Ais asquare matrix, B is singular matrix of same order, then for a positive integer n, (A™ BA)" equals to
(@) A™"B"A" (b) A"B"A™" () A™'B"A (d) n(A™'BA)

4. If fix) =x", then the value of
A I b I 1 =10" 1)
L TR TR TR
{a) 1 (B0 (c) 27 (d) 2
5. The point of intersection of the tangent drawn to the curve 1"y = 1 - y at the points where it is meet by the
curve xy = 1=y, is given by
{m) (0, =1} (b) (1, 1) {c) (0, 1) {d) (=1, 0)
6. If [ix®+ 26"+ 3aM) (1 + 2%+ 1)) Py = k(A + Bx* + OY)F then

15

1 1 3
{H}k—;,ﬂ—ﬂ-l:—p (b k-E,A-B-E,p-E
(c) k=3, p=1/3, A=B=C {d) none of these

7. If [sin'y !B Ty = %sin"r +, then

(a) k#p (b) k=3.p=5 c) k=p=5 (d) k=p==5
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20.

If fix) = tsintdt, then f (x)is
{a) cos x + x sinx {b) xsinx {r) xcosx (d) sinx+ xcos x
The value of J_:il,t‘! +x cos ¥ +tan’ x + 1) dx is
(@0 (b) 2 €)= (d) 1
Area lying between the curves y* = 4x and y = 2 is (in square units)

2 1 1 3
(@) 3 (b) 3 ) 3 (d) 1

d'y jdy\F 1
The order and degree of the differential equation Flﬁ (E) +x4 =0 are respectively
(@) 2,3 (b) 3,3 ) 2,6 (d) 2,4
The solution of .ri'_y =2¥"% ig
ix
(@) 2*+2¥=C (b 2*=2"=C © Y—-—=c d ~+2 =C
2 ¥ W
The corner points of the feasible region determined by the system of linear inequalities are
(0, 0), (4, 00, (2, 4) and (0, 5). If the maximum value of Z = ax + by, where a, b > 0 occurs at both (2, 4) and
(4, 0), then
(@) a=2b (b) 2a=h () a=h (d) 3a=h
Consider the probability distribution of a random variable X
X o 1 2 3 !
PiX) 0.1 0.25 0.3 0.2 015
then the variance of X is
(a) 1.4475 (b) 0.4575 (€) 1.5475 (d) None of these
An unbiased eoin is tossed i imes. If the probability of getting 5 heads is equal to the probability of getting
6 heads then probability of getting 3 heads, is
(1Y (1 1\ 11
@ 163 ® c,(3) © "G5 @ 17
Section-B (B1)
The relation “greater than” denoted by > in the set of integers is
(7) Symmetric () Reflexive () Transitive (d) Mone of these
If R, and R, are symmetric relations in a set A, then R UR, is
(1) Reflexive (b) Symmetric () Transitive (d) Mone of these
The function f:R — R defined by flx) = 4" + 4/*l is
(1) one=one and into (" one-one and onto
(c) many one and into (d) many one and onto
Let * be binary operation on R (set of reals) such thata *b=a + b =2 then (/3 * /2) *2is equal to
(@) V3+42 (B) V3-+2
(©) y3+,2+2 (@) V3I+y2-=2
. e =™

The inverse of the function fix) = Ty lis



Ty ¥ oy 12 1 W2

(i) Iﬂglnﬁ (b) lngm Py () lng,[z_r] @ 1%(1-.1'}
21. The number of solution of the equation tan™ (§]+ tan'i(%) =tan"x is

(a) 2 (b) 3 (c) O (d) 1
22. The greatest and least values of (sin™ x)° + (cos™ x)* are respectively

3 3 3 ] 3 3
T T m 7T T T !

23, If u=cot™ Vtan @ - tan™ Jtan @, then tan (%— %} is equal to

(@) ytana b Yeota () tana {d) cota
24. If cos™'x > sin™x, then

{.rr]-!—r:rﬂl (b EIEx-r::— ) -lﬂrc# (d) x>0

V2 v

25. On using elementary column operation C, — C,=C, in the following matrix equation
51 - 1 2{j11
2 0/ |0 1|2 of We Bt
5] [11][1 0 RN
W2 2|70 1]|2 2 @12 =20 1f|z 0
5 =4 12111 O
() [1 _zl-lu ]I_[Z _zl {d) none of these
26. If A-[: gl is such that A2 = I (identity matrix) then

(a) 1+a*+By=0 (b) 1-a*+By=0 (€) 1-a*=py=0 (d) 1+a*=By=0
27. Which of the following is correct?

(1) Determinant is a square matrix.

(h) Determinant is a number associated to a matrix.

(c) Determinant is a number associated to a square matrix.

(d) None of these

28. For what values of a and b the system of equations
y+ay+bz=8§
x+2y+bz=5
xty+iz=4
has a unique solution?

Ma=2,bh=3 by a#£2,b#3 ) a==2,b==3 id) None of these
29. Read the following statenieils.

log (1 +ax)=log(1=hbx)
StatementI : If the function fix) defined by fix)= T Lfx#0
k Jifx=0

is conlinuous at

rx=0,thenk=a+h

Statement Il : We say function f{x) is continuous at x = 4, if lim f(x) = lim f(x) # f(a)

Tl X

Choose the correct option:

A== =SmMI—-D>=
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fla) glx) v
i g @ i
o gt B i)
) =1 by 2 oy 0 {d) none of these
If g is inverse function of fand ' (x) = sin x, then g (x)is

If fix), glx), hix) are polynomials in x of degree 2 and Fix) = then F (x) is equal to

1

(a) sin (g{x)) (b) sin™ x (c) e (d) cosec (g(x))
o L=
sin x if
The function f(x)={" x *T<08% Hx#0, .29
1, ifx=0
(a) is continuous. (b) has removable discontinuity.
() has jump discontinuity. (d) has oscillating discontinuity.
The global minimum value of f(x) = x*=x*=2x+6 is
(a) 6 (b) 8 (c) 4 {d) does not exists
2
e T dx equals
(x*+3x + D tan™ (.t + ?)
(a) tan"(xi'%)*kc (b) cot"(x+%)+C
() log(x+3)+C ) log[mn"(xa,})]»fc
Read the following statements.
1{4 V2 =1
StatementI : The value of cosec x dx is equal to log P
=/6 =X

StatementIl : If f[a, b]——R andleta <c <b, then
b c b
[ fxydx = [ flx)dx + [ f(x)dx

Choose the correct option:

(a) Statement 1 is correct but statement Il is not correct.
(b) Statement 11 is correct but statement [ is not correct.
(c) Both statements [ and II are correct.

(d) None of these

Read the following statements.

StatementI : | f)dx =] f(xdx
a b

StatementIl : Let fbe a continuous function defined on the closed interval [a, b] and F is antiderivative of f.

b
Then | f(x) dx = [F(x)]} = F(b) = F(a)

Choose the correct option:

(1) Statement | is correct but statement 11 is not correct.
(b) Statement 11 is correct but statement 1 is not correct.
() Both statements [ and II are correct.

(d) Mone of these

Area lying in the first quadrant and bounded by the circle ¥* + y* = 4 and the lines ¥ = 0 and

* =2 is (in square units)



34,

41.

42,

45,

47.

44,

(a) = ® 3 © 3 @ 5

The differential equation having y = (sin™ 1)° + Alcos™ x) + B, where A and B are arbitrary constant, is

Py dy dy dy
) (l=myr ) —=r——=2 b) (l=x)—=+y—=10
@ (1=2)—=-x ®) (=) —F+yg

y ay f these
(c) (1=2x) 7 -x =0 {d) None o

dy ., =

The general solution of e 22" is
(a) FY= (b) Vet =C (©) &= LY (d) &=

If a and b are unit vectors, then the angle between a and b for /3 a —b to be a unit vector is
(w) 30° (b) 45° (c) 60° (d) 90°

If |a|=3 and =1 =k =2, then |k a | lies in the interval

(a} [0, 6] (b) [-3. 6] (c) [3, 6] (d) [1,2]

The position vector of the point which divides the joining of points 2a -3 and a+b in the ratio 3: 1is

= -

() 22 () =% © 2 @ 2

If l[a|=10,|p|=2 and a .b =12, then value of |g %[ | is

(@) 5 (b) 10 (c) 14 () 16

Co-ordinates of the point where the line joining the points (= 3, 2, 4) and (3, 4, = 5) meets the ZX plane is
(i) (=9,0, 13) (by (9, 0,13) () (=9,0,12) (d) (9,0,132)

If the distance of the point A(8, 6, 10) from the x axis is o, then the value of o’ is

(a) 136 (b) 134 (c) 138 (d) None of these

The shortest distance between the skew lines %: = 2;5 = %a.nd r—:lz = % = 21;? is

(1) 9 units (b) 10 units () 8 units (d) Mone of these

The equation of the plane which is perpendicular to the plane 3x + 5¢ = 6z =2 =0 and which contains the line
of intersection of the planes 2x =3y +z=4=0andx+y=3z +5=0is

(@) b7y =63y =19+ 29=0 () p7x=p3y +192=29=1
(c)6Fx + 03y =192 =209 =0 (d) 67x—63y—19=2-20=0

A and B are two events P{AURB) -%and PlAnNB) -%,P(F} -%, then the events A and B are
(a) dependent (b) independent (c) mutually exclusive {d) none of these

It is given that events A and B are such that P{4) = %, PlA/B) = %and P(B/A) = %; Then P(B) is

1 1 1 2
() 5 ib) 3 ) 5 (d) 3
If PiA) = %,PLE] = %md PIAUR)= %, then P{B/A) + P{A/B) is equal to

11 11 5 7
(a) Y (b) 3 () 1= (d) =

N ——D=2=mMI—->>=



